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M The second time that you copy,

try to use today' s Word of the

M Day in your own sentence

instead of the sentence below.
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Do you know what
this word means?
Would you be able
to explain its
meaning to
someone and give
an example of its
use?




What's happened so far?

Let's read on...

(Until the owl - no further!)
youtu.be/gWh_ZKO03IBU




What language could have been used throughout?

What's missing?
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time connectives
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Use time connectives to record the food chain
from the story so far.

Use the given time connectives.




MOVE TINE 0K

firstly

next

afterwards

at last

suddenly

this morning

secondly

a few minutes
later

finally

without
warning

it all began

after that

a moment
later

in the end

all of a
sudden

to begin

then

before long

eventually

in the blink
of an eye

first of all

later on

at that
point

at the end of
the day

within
seconds

initially

as time

passed

after a while

to end the
day

out of
nowhere




1322
I find the fraction of - of obiect

Let's learn: d

https://vimeo.com/510590763



o Brett uses a bar model and base 10 to fhnd%uf 36

Fractions of a set of objects (2) ‘@

Qe

o Draw counters in the bar models to halp you complete each En, B 7] ]
number sentence. &/ & o |
a) %nf 15 = Use Brett's method to complete the number sentences.
3 i |] Z of 63 =
b) 2 ofs= 3
2 b) 2 of 48 =
) £of 20 = a =
d % of a2 =

o Maotch the questions and onswers.

% of G =7 0 B Kim uses a bar model and ploce value counters to find % of 36

Zof1s=7 6 000 ©O00 000

%ufu: 7 15 Usa Kim's method to complete the number sentences. Gl
2 =
3 @ gofse= !‘
Fof20=7? 10
b) 2 of 60 =
0 2ofs2=

o whutu%nfm?

How do you know? @




o Complete the number semtances,

u]%uf =130
h]%nf =30
ﬂ%nf =30
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To find 3 of 12, \

[ you divide hH 4 and then

_L:}_ mul:l:l.plgthe answer 553/

( Tommy ——

//f To find 2 of 12,

" you divide by 3 and then

\multl.pl.g the answer h! 4 -:i .

Who Is corract?

How do you know? show your working.
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o Dorg, wWhitney and Ron each find a froction of 24 QJ

using countars.

@ 1{1' hm%ufz::; ({hmre g u_fi# er

- \ whitney
| Dorg | @ |51 hm.rt 18 cnm@ —'-'l

a)} wWho hos the most counters? Show your workings.

b} How mony more counters does Dora haove than Whitney?

o wWrite fractlons to make the stotements correct. @

of 36 < 18

of 36 = 18

of 36 = 18

How many different answers can you find for each? @
Compare with a partner. '















